Mathematics
Arithmetic: Test 3b

Year 5
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Key Stage 2: Year 5: arithmetic test 3b

1 | 482-400 =
5 1 _
2 |27 12°

3 | 6241+ 2676 =
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4 72 + 1=

5 | 279x6=

6 | = of 42
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7 | 59302 + 3469 =

8 | 80000 -500 =

q | 720:9=
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10 | 037 x 10 =
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13 | 7649 x 34 =

14 | 772 +8 =
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Answer Sheet: Key Stage 2: Year 5: arithmetic test 3b

iy

Guidance: Children will have 15 minutes for this test.

question answer marks
1 82
2 1—42 or %
3 8917
4 72
5 1674
6 35
7 6277
8 79 500
9 80
10 3.7
l =
12 2%
13 260 066
14 96.5

Total 16
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